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3.5 Show the  result of the compilation 

	Ï «Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab8\CircleAns.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.9  Show the result of the compilation

	  «Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab8\CircleAns.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.12  Show the result of the compilation

	 Ï«Ï ----jGRASP exec: javac U:\Web\2008-CS239\Lab8\CircleAns.java
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


3.15  Call the toString method and print the result

	 Ï«Ï ----jGRASP exec: java CircleTester
¼¼§Ï23
¼¼§Ï32
ÏÏ§Ïthe radius of this circle is 23.0 and the area is 1661.9025137490005
ÏÏ§Ï This program has ended normally
ÏÏ©Ï ----jGRASP: operation complete.


3.17 Call the toString method and print the result

	``Ï«Ï ----jGRASP exec: java CircleTester
¼¼§Ï23
¼¼§Ï35
ÏÏ§Ïthe radius of this circle is 23.0 and the area is 1661.9025137490005
ÏÏ§Ïthe radius of this circle is 35.0 and the area is 3848.4510006474966
ÏÏ§Ï This program has ended normally 
ÏÏ©Ï ----jGRASP: operation complete.


3.18 Determine whether the two objects are equal and print the result.

	ÏÏ«Ï ----jGRASP exec: java CircleTester
¼¼§Ï23
¼¼§Ï25
ÏÏ§Ïthe radius of this circle is 23.0 and the area is 1661.9025137490005
ÏÏ§Ïthe radius of this circle is 25.0 and the area is 1963.4954084936207
ÏÏ§Ï The two circles are equal is false
ÏÏ§Ï This program has ended normally 
ÏÏ©Ï ----jGRASP: operation complete.


3.19 Determine whether the second object is greater than the first and print the result

	ÏÏ«Ï ----jGRASP exec: java CircleTester
¼¼§Ï23
¼¼§Ï35
ÏÏ§Ïthe radius of this circle is 23.0 and the area is 1661.9025137490005
ÏÏ§Ïthe radius of this circle is 35.0 and the area is 3848.4510006474966
ÏÏ§Ï The two circles are equal is false
ÏÏ§Ï the first circle is greater than the second circle is false
ÏÏ§Ï This program has ended normally 
ÏÏ©Ï ----jGRASP: operation complete.


4.6 What did you write?

	       t1x = one.getX();

  t1y = one.getY();

  t1z = one.getZ();

  

  t2x = two.getX();

  t2y = two.getY();

  t2z = two.getZ();

  

  t3x = three.getX();

  t3y = three.getY();

  t3z = three.getZ();

  

  System.out.println (" Xs ");

  System.out.println

    (" t1x: " + t1x + 


  " t2x: " + t2x + 


  " t3x: " + t3x);
     System.out.println ();


     System.out.println (" Ys ");
  
     System.out.println
       (" t1y: " + t1y + 


  " t2y: " + t2y + 


  " t3y: " + t3y);


  
  System.out.println ();

     System.out.println (" Zs ");
  
     System.out.println
       (" t1z: " + t1z + 


  " t2z: " + t2z + 


  " t3z: " + t3z);





4.10 How many separate instances of the x member exist?

	3



4.11 How many separate instances of the y member exist?

	3



4.12 How many separate instances of the z member exist?

	1



4.16  What was output?
	ÏÏ«Ï ----jGRASP exec: java ThingDriver
ÏÏ§Ï
ÏÏ§Ï Xs 
ÏÏ§Ï t1x: 23 t2x: 15 t3x: 27
ÏÏ§Ï
ÏÏ§Ï Ys 
ÏÏ§Ï t1y: 23 t2y: 15 t3y: 27
ÏÏ§Ï
ÏÏ§Ï Zs 
ÏÏ§Ï t1z: 35 t2z: 35 t3z: 35
ÏÏ§Ï This program has ended normally 
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


